ASSEMBLY INSTRUCTIONS

ScrewsP6%40%M5

@ Lock nut M5

‘M@ Screws M5%35

\@awmg screws M5%40 2 PCS

2 PCS

2 PCS

4 PCS

@ Bearing

TT Spannert8

Allen Key#3

A
Allen Key#4

2 PCS

1 PC
1 PC

1 PC

STEP 1

Install the Aluminum rod through the
base and tighten with M5%35 screw.

STEP 2
Put the-bearing into the bearing sleeve on
the side of the box.Using & 6%40%M5 screw
through the Aluminum rod and the bearing,

then tighten lock nut. The tightness of the
nut should be moderate

STEP 3

Install the wing screws on both
side of the Aluminum rod.

1




